

Chapter 2

Extensions of the First BCL

2.1 A Result of Barndorff-Nielsen

The first Borel–Cantelli lemma is simple and almost trivial. Yet, it is necessary to weaken its sufficient condition to tackle some problems of probability theory. The first of such extensions is due to Barndorff-Nielsen (1961), and will be stated below.

Theorem 2.1.1 *Let $\{A_n\}_{n \geq 1}$ be a sequence of events such that $\liminf P(A_n) = 0$ and $\sum P(A_n \cap A_{n+1}^c) < \infty$. Then*

$$P(\limsup A_n) = 0 \text{ and } P(A_n) \rightarrow 0.$$

Proof Put $B_n = A_n \cap A_{n+1}^c$, $n \geq 1$. Then $B_n \in \mathcal{A} \forall n \geq 1$, and $P(\limsup B_n) = 0$ by the first Borel–Cantelli lemma. By (1.2.12) on page 8,

$$(\limsup A_n) \cap (\limsup A_n^c) \subset \limsup B_n.$$

Therefore, inequality (h) of Sect. 1.1 on page 2 implies that

$$P(\limsup A_n) \leq P(\limsup B_n) + P(\liminf A_n).$$

This completes the proof, since $P(\liminf A_n) = 0$ by (1.2.4) on page 7. □

The above proof suggests the following extension of Theorem 2.1.1.

Theorem 2.1.2 *Assume that*

- (a) $P(\liminf A_n) = 0$ (a fortiori, $\liminf P(A_n) = 0$); and
- (b) $P(\limsup(A_n \cap A_{n+1}^c)) = 0$ or $P(\limsup(A_n^c \cap A_{n+1})) = 0$.

Then $P(\limsup A_n) = 0$. □

The paper by Barndorff-Nielsen (1961) contains an application of Theorem 2.1.1. It is worthwhile to state the following analog of Theorem 2.1.1.

Theorem 2.1.1' If $\liminf P(A_n) = 0$ and $\sum_n P(A_n^c \cap A_{n+1}) < \infty$, then

$$P(\limsup A_n) = 0. \quad \square$$

There is a short proof of the above result which is due to Balakrishnan and Stepanov (2010). This runs as follows: For each $n \geq 1$,

$$\begin{aligned} P(\limsup A_n) &\leq P\left(\bigcup_{m=n}^{\infty} A_m\right) = P(A_n) + P(A_{n+1} \cap A_n^c) \\ &\quad + P(A_{n+2} \cap A_{n+1}^c \cap A_n^c) + \cdots \\ &\leq P(A_n) + \sum_{i=n}^{\infty} P(A_i^c \cap A_{i+1}). \end{aligned}$$

As $\sum_n P(A_n^c \cap A_{n+1}) < \infty$, $\lim_{n \rightarrow \infty} \sum_{i=n}^{\infty} P(A_i^c \cap A_{i+1}) = 0$. So

$$P(\limsup A_n) \leq \liminf P(A_n) + \lim_{n \rightarrow \infty} \sum_{i=n}^{\infty} P(A_i^c \cap A_{i+1}) = 0.$$

Replacing A_n by $A \cap A_n$ for $n \geq 1$ in Theorem 2.1.2, and using

$$P(\limsup A_n) \leq P((\limsup A_n) \cap A) + P(A^c),$$

we get a further refinement of Theorem 2.1.2.

Theorem 2.1.3 Assume that

- (a) $P(\liminf(A \cap A_n)) = 0$ (a fortiori, $\liminf P(A \cap A_n) = 0$); and
- (b) $P(\limsup(A \cap A_n \cap A_{n+1}^c)) = 0$ or $P(\limsup(A \cap A_n^c \cap A_{n+1})) = 0$.

Then $P(\limsup A_n) \leq 1 - P(A)$, $\limsup P(A_n) \leq 1 - P(A)$. \square

Theorem 2.1.4 (Balakrishnan and Stepanov 2010) If $P(A_n) \rightarrow 0$ and

$$\sum_{n=1}^{\infty} P(A_n^c \cap A_{n+1}^c \cap \cdots \cap A_{n+m-1}^c \cap A_{n+m}) < \infty \quad (2.1.1)$$

for some $m \geq 1$, then $P(A_n \text{ i.o.}) = 0$.

Proof Note that for each $n \geq 1$,

$$\begin{aligned}
P(A_n \text{ i.o.}) &\leq P\left(\bigcup_{k=n}^{\infty} A_k\right) \\
&= P(A_n) + P(A_n^c \cap A_{n+1}) + P(A_n^c \cap A_{n+1}^c \cap A_{n+2}) + \cdots \\
&\leq P(A_n) + P(A_{n+1}) + \cdots + P(A_{n+m-1}) \\
&\quad + \sum_{k=n}^{\infty} P(A_k^c \cap A_{k+1}^c \cap \cdots \cap A_{k+m-1}^c \cap A_{k+m}) \\
&\rightarrow 0 \text{ as } n \rightarrow \infty.
\end{aligned}$$

□

The proof of Theorem 2.1.4 shows that

$$P(A_n \text{ i.o.}) = \lim_{n \rightarrow \infty} \left[P(A_n) + \sum_{k=1}^{\infty} P(A_n^c \cap A_{n+1}^c \cap \cdots \cap A_{n+k-1}^c \cap A_{n+k}) \right].$$

There is a dual of Theorem 2.1.4. Before stating it, we shall give an alternative proof of Theorem 2.1.4. The rest of this section is due to Riddhipratim Basu, a graduate student of the Indian Statistical Institute.

Lemma 2.1.1 *Let for some $m \geq 1$,*

$$\begin{aligned}
C_n &= \bigcup_{j=1}^m A_{n+j}, \\
B_n &= A_n^c \cap A_{n+1}^c \cap \cdots \cap A_{n+m-1}^c \cap A_{n+m}, \quad n \geq 1.
\end{aligned}$$

Then

$$\limsup A_n \subset (\limsup B_n) \cup (\liminf C_n).$$

Proof Let ω lie in LHS. Then $\omega \in A_n$ for infinitely many values of n . Let

$$\{n \geq 1 : \omega \in A_n\} = \{n_1, n_2, \dots\} \quad \text{where } n_1 < n_2 < \cdots$$

Let $k = \limsup_{i \rightarrow \infty} \{n_i - n_{i-1}\}$.

Case 1 $k \geq m + 1$.

Then \exists a subsequence $\{n_{i_j}\}_{j \geq 1}$ of $\{n_i\}_{i \geq 1}$ such that $n_{i_1} \geq m + 1$ and $n_{i_j} - n_{i_{j-1}} \geq m + 1 \forall j \geq 1$; one can verify this by considering the three subcases ' $k = \infty$ ', ' $k = m + 1$ ', and ' $k \geq m + 2$ '. Then $\omega \in B_{n_{i_j-m}}, \forall j \geq 1$; for, if we fix a $j \geq 1$, $\omega \in A_{n_{i_j}}$, and as $n_{i_{j-1}} \leq n_{i_j} - m - 1$, we get by the definition of $\{n_i\}_{i \geq 1}$

$$\omega \notin A_{n_{i_j-m}}, \omega \notin A_{n_{i_j-m+1}}, \dots, \omega \notin A_{n_{i_j-1}}.$$

So $\omega \in \limsup B_n$.

Case 2 $1 \leq k \leq m$.

Then $\limsup_{i \rightarrow \infty} \{n_i - n_{i-1}\} < m + \frac{1}{2}$ so that $\exists i_0 \geq 1$ such that $n_{i_0} \geq m + 1$ and $n_i - n_{i-1} \leq m \forall i \geq i_0$. But then

$$\omega \in C_{n-m} \forall n \geq n_{i_0}.$$

To verify this, fix an integer $n \geq n_{i_0}$. $\exists j \geq 1$ such that $n_j \leq n < n_{j+1}$ for some $j \geq i_0$. Now note that $\omega \in A_{n_j}$, and so $\omega \in C_{n-m}$ since $n - m + 1 \leq n_{j+1} - 1 - m + 1 \leq n_j$ which implies that $n_j \in \{n - m + 1, \dots, n\}$ and so $C_{n-m} \supset A_{n_j}$.

Hence $\omega \in \liminf C_n$. □

The above lemma immediately implies the following result.

Theorem 2.1.4' If $P(\liminf C_n) = 0$ and for some $m \geq 1$, (2.1.1) holds, then

$$P(A_n \text{ i.o.}) = 0,$$

where C_n is as in Lemma 2.1.1. □

Lemma 2.1.2 Let C_n be as in Lemma 2.1.1, and let

$$B_n^* = A_n \cap A_{n+1}^c \cap \dots \cap A_{n+m}^c \text{ for some } m \geq 1.$$

Then

$$\limsup A_n \subset (\limsup B_n^*) \cup (\liminf C_n).$$

Proof Let $\omega \in \limsup A_n$ and $\omega \notin \limsup B_n^*$. Then \exists an integer $m \geq 1$ such that $\omega \notin B_n^* \forall n > m$. Also, $\exists n_0 > m$ such that $\omega \in A_{n_0}$ and so $\omega \notin C_{n_0-1}$. We assert that $\omega \notin C_n \forall n \geq n_0 - 1$. Suppose this is false. Then \exists an integer $n_1 \geq n_0$ such that $\omega \notin C_{n_1}$. Hence

$$\omega \notin A_{n_1+1}, \dots, \omega \notin A_{n_1+m}.$$

Let n_2 be the largest integers less than $n_1 + 1$ such that $\omega \in A_{n_2}$. Then

$$\omega \in A_{n_2+1}^c, \omega \in A_{n_2+2}^c, \dots, \omega \in A_{n_2+m}^c.$$

(Distinguish between two cases, e.g., $n_2 + m \leq n_1$ or $n_2 + m > n_1$; in the latter case, note that $n_2 + m \leq n_1 + m$.) Thus $\omega \in B_{n_2}^*$ but $n_2 \geq n_0 > m$. This is a contradiction. □

We have thus proved.

Theorem 2.1.5 If $P(\liminf C_n) = 0$ and for some $m \geq 1$,

$$\sum P(B_n^*) < \infty,$$

then $P(A_n \text{ i.o.}) = 0$ where C_n and B_n^* are as in Lemma 2.1.2. \square

We can combine Theorems 2.1.4' and 2.1.5 in the following way:

Theorem 2.1.6 *If $P(\liminf C_n) = 0$ and*

$$P(\limsup B_n) = 0 \text{ or } P(\limsup B_n^*) = 0,$$

then $P(A_n \text{ i.o.}) = 0$ where C_n , B_n and B_n^ are as in Lemmas 2.1.1. and 2.1.2. \square*

Remark 2.1.1 This remark is related to Theorems 2.1.4 and 2.1.5. Suppose that $P(A_n) \rightarrow 0$ and

$$\sum P(B_n \cap B_{n+1} \cap \cdots \cap B_{n+m}) < \infty$$

where each B_i is either A_i and A_i^c and at least two of the B_i for $i = n, \dots, n+m$ are the corresponding A_i . Then it need not true that $P(A_n \text{ i.o.}) = 0$. For, we have the counterexample : Let $\{A_n\}_{n \geq 1}$ be independent and $P(A_n) = \frac{1}{n}$, $n \geq 1$; then the above conditions hold, but $P(A_n \text{ i.o.}) = 1$.

We now give two applications of Theorem 2.1.1.

Example 2.1.1 Let $\{X_n\}_{n \geq 1}$ be pairwise independent, and assume that for each $n \geq 1$,

$$P(X_n > u) = e^{-u}, \quad 0 < u < \infty.$$

(a) Show that

$$\limsup(X_n/\log n) = 1 \text{ a.s. and } \liminf(X_n/\log n) = 0 \text{ a.s.} \quad (2.1.2)$$

(b) Let $X_{(n)} = \max(X_1, \dots, X_n)$, $n \geq 1$. If $\{X_n\}_{n \geq 1}$ is independent, then

$$X_{(n)}/\log n \rightarrow 1 \text{ a.s.}$$

Solution: (a) By the Borel-Cantelli lemmas, we have

$$P(X_n > a \log n \text{ i.o.}) = 0 \text{ or } 1 \text{ according as } a > 1 \text{ or } 0 < a \leq 1.$$

This implies the first part of (2.1.2). Since for any $a > 0$, $P(X_n < a \log n) \rightarrow 1$, and so $\sum P(X_n < a \log n) = \infty$, $P(X_n < a \log n \text{ i.o.}) = 1 \forall a > 0$. Therefore,

$$\liminf(X_n/\log n) \leq 0 \text{ a.s.}$$

which is tantamount to the second part of (2.1.2).

(b) By Example 1.6.25 (a) on page 48, the above arguments yield that $P(X_{(n)} > a \log n \text{ i.o.}) = 0$ and hence

$$\limsup(X_{(n)}/\log n) \leq 1 \text{ a.s.}$$

We show below that $\liminf(X_{(n)}/\log n) \geq 1$ a.s. For this, it suffices to show that $P(X_{(n)} > a \log n \text{ eventually}) = 1$ for each $a \in (0, 1)$. By Theorem 2.1.2, it is enough to show that, for $0 < a < 1$,

$$\sum P(A_n \cap A_{n+1}^c) < \infty \text{ and } P(A_n^c \text{ i.o.}) = 1, \quad (2.1.3)$$

where $A_n = [X_{(n)} \leq a \log n]$, $n \geq 1$. By Example 1.6.25 (a), we have

$$P(A_n^c \text{ i.o.}) = P(X_n > a \log n \text{ i.o.}) = 1 \text{ for } 0 < a < 1.$$

Finally,

$$\begin{aligned} \sum_{n=1}^{\infty} P(A_n \cap A_{n+1}^c) &= \sum_{n=1}^{\infty} P(A_n \cap [X_{n+1} > a \log(n+1)]) \\ &= \sum_{n=1}^{\infty} P(A_n) P(X_{n+1} > a \log(n+1)) \\ &= \sum_{n=1}^{\infty} (1 - n^{-a})^n (n+1)^{-a} \\ &\leq \sum_{n=1}^{\infty} n^{-a} \exp(-n^{1-a}) \\ &\leq \sum_{n=1}^{\infty} \int_{n-1}^n x^{-a} \exp(-x^{1-a}) dx \quad (\text{why?}) \\ &= \int_0^{\infty} x^{-a} \exp(-x^{1-a}) dx \\ &= \int_0^{\infty} e^{-y} dy / (1-a) = 1/(1-a) < \infty. \end{aligned}$$

Example 2.1.2 Let $\{X_n\}$ be pairwise independent and each X_n follow $N(0; 1)$ distribution.

(a) Show that

$$\limsup(X_n/(\sqrt{2 \log n})) = 1 \text{ a.s., and } \liminf(X_n/(\sqrt{2 \log n})) = -1 \text{ a.s.} \quad (2.1.4)$$

(b) Show that, if $X_{(n)} = \max(X_1, \dots, X_n)$, $n \geq 1$ and $\{X_n\}_{n \geq 1}$ is independent then

$$X_{(n)}/\sqrt{2 \log n} \rightarrow 1 \text{ a.s.}$$

Solution: We shall use the inequality (1.8) on page 175 of Feller (1968).

(a) Since $P(N(0; 1) > x) \leq \frac{1}{\sqrt{2\pi}} \exp(-\frac{1}{2}x^2)$ for $x \geq 1$, we have

$$P(X_n > a\sqrt{2 \log n}) = 0 \text{ or } 1 \text{ according as } a > 1 \text{ or } 0 < a \leq 1$$

which implies the first part of (2.1.3). Replacing X_n by $-X_n$ for each $n \geq 1$, we get the second part of (2.1.3).

- (b) Following the steps of Example 2.1.1 (b), it suffices to show that for each $a \in (0, 1)$

$$\sum P(A_n \cap A_{n+1}^c) < \infty$$

where $A_n = [X_{(n)} \leq a\sqrt{2\log n}]$, $n \geq 1$. To do this, note that for a suitable $m \geq 1$

$$\begin{aligned} \sum_{n=m}^{\infty} P(A_n \cap A_{n+1}^c) &\leq \sum_{n=m}^{\infty} \left(1 - \frac{1}{2a\sqrt{2\pi}\sqrt{2\log n}} \exp(-a^2 \log n)\right)^n \\ &\quad \times \frac{1}{\sqrt{2\pi}} \exp(-a^2 \log(n+1)) \\ &\leq d \sum_{n=m}^{\infty} n^{-a^2} \exp(-cn^{-a^2+1}/\sqrt{\log n}) \end{aligned} \quad (2.1.5)$$

where $c > 0$, $d > 0$ are suitable constants. In (2.1.5), we have used the fact that

$$P(N(0; 1) > x) \geq \frac{1}{\sqrt{2\pi}} \exp\left(-\frac{1}{2}x^2\right) \left(\frac{1}{x} - \frac{1}{x^3}\right) \quad \text{for } x \geq 1$$

and m is an integer such that $(1 - 1/(2a^2 \log n)) \geq 1/2 \forall n \geq m$. Since

$$n^{-a^2} \exp(-cn^{(1-a^2)}/\sqrt{\log n}) \leq n^{-2} \text{ for all sufficiently large } n$$

which is implied by the following fact

$$\exp\left(cn^{(1-a^2)}/\sqrt{\log n}\right) / n^{2-a^2} \rightarrow \infty \text{ for each } a \in (0, 1),$$

(*Proof* take logarithm of both sides and use the fact that

$$n^\alpha (\log n)^{-\beta} \rightarrow \infty \text{ if } \alpha > 0, \beta > 0.),$$

the desired result follows. \square

2.2 Another Result of Barndorff-Nielsen

Theorem 2.1.1 is a special case of

Theorem 2.2.1 *If $\{A_n\}_{n \geq 1}$ is a sequence of events such that $P(A_n) \rightarrow 0$ and $\sum P(A_n \cap A_{n+v_n}^c) < \infty$ for some sequence $\{v_n\}_{n \geq 1}$ of positive integers, then $P(A_n \text{ i.o.}) = 0$.*

Proof For every $k \geq 1$, define a sequence of integers $\{i_{k,n}\}_{n \geq 1}$ as follows:

$$i_{k,n} = \begin{cases} k & \text{if } n = 1; \\ i_{k,n-1} + v_{i_{k,n-1}} & \text{if } n \geq 2. \end{cases}$$

We have $P(A_n \cap A_{n+v_n}^c \text{ i.o.}) = 0$. As

$$A_{i_{k,n}} \cap A_{i_{k,n+1}} = A_{i_{k,n}} \cap A_{i_{k,n} + v_{i_{k,n}}}^c,$$

we have, by Theorem 2.1.1, $P(A_{i_{k,n}} \text{ i.o.}(n)) = 0$. So

$$P\left(\bigcap_{n=1}^{\infty} A_{i_{k,n}}\right) = 0 \text{ and hence } P\left(\bigcup_{k=1}^{\infty} \bigcap_{n=1}^{\infty} A_{i_{k,n}}\right) = 0.$$

The proof will be complete if we show that

$$\limsup A_n \subset \left(\bigcup_{k=1}^{\infty} \bigcap_{n=1}^{\infty} A_{i_{k,n}}\right) \cup [A_n \cap A_{n+v_n}^c \text{ i.o.}].$$

To this end, let $\omega \in \limsup A_n$ and $\omega \notin \limsup(A_n \cap A_{n+v_n}^c)$. Then \exists an integer $m \geq 1$ such that $\omega \notin A_n \cap A_{n+v_n}^c \forall n > m$. Let $p > m$ be such that $\omega \in A_p$. So $\omega \in A_{p+v_p} = A_{i_{p,2}}$ and hence

$$\omega \in A_{i_{p,2}} + v_{i_{p,2}} = A_{i_{p,3}},$$

and so on. Thus $\omega \in \bigcap_{n=1}^{\infty} A_{i_{p,n}}$ and so $\omega \in \bigcup_{k=1}^{\infty} \bigcap_{n=1}^{\infty} A_{i_{k,n}}$. \square

2.3 Results of Loève and Nash

We shall first discuss a result of Loève (1951), as stated in Nash (1954); it gives a necessary and sufficient condition for $P(\limsup A_n) = 0$.

The *necessary part* runs as follows: If $P(\limsup A_n) = 0$, then there exists an integer $m \geq 1$ such that whenever $n \geq m$,

$$P(A_n^c \cap A_{n+1}^c \cap \cdots \cap A_{k-1}^c) > 0 \quad \forall k > n \quad (2.3.1)$$

and

$$\lim_{n \rightarrow \infty} \sum_{k=n}^{\infty} p_{nk} = 0 \quad (2.3.2)$$

where for $k > n$

$$p_{nk} = P(A_k | A_n^c \cap A_{n+1}^c \cap \cdots \cap A_{k-1}^c), \text{ and } p_{nn} = P(A_n). \quad (2.3.3)$$

For a proof, first recall from the remark after the proof of Theorem 2.1.4 that

$$P(\limsup A_n) = 0 \Leftrightarrow \lim_{n \rightarrow \infty} \left[p_{nn} + \sum_{k=n+1}^{\infty} P(A_n^c \cap \cdots \cap A_{k-1}^c \cap A_k) \right] = 0.$$

As $P(\limsup A_n) = \lim_{n \rightarrow \infty} P\left(\bigcup_{k=n}^{\infty} A_k\right) = 0$, \exists an integer $m \geq 1$ such that $P\left(\bigcup_{k=n}^{\infty} A_k\right) < 1 \forall n \geq m$. Then (2.3.1) holds, since

$$(A_n^c \cap \cdots \cap A_{k-1}^c) \supset \left(\bigcup_{k=n}^{\infty} A_k\right)^c.$$

Now note that if $k > n$,

$$p_{nk} \leq P(A_n^c \cap \cdots \cap A_{k-1}^c \cap A_k) / \left[1 - P\left(\bigcup_{k=n}^{\infty} A_k\right) \right]$$

so that

$$\sum_{k=n}^{\infty} p_{nk} \leq \left[P(A_n) + \sum_{k=n+1}^{\infty} P(A_n^c \cap \cdots \cap A_{k-1}^c \cap A_k) \right] / \left[1 - P\left(\bigcup_{k=n}^{\infty} A_k\right) \right]$$

and hence (2.3.2) follows by letting $n \rightarrow \infty$ in the above inequality.

The *converse* runs as follows: If \exists an integer $m \geq 1$ such that (2.3.1) holds and if (2.3.2) holds, then $P(\limsup A_n) = 0$. For a proof, we need to only note that if $k > n$,

$$P(A_n^c \cap \cdots \cap A_{k-1}^c \cap A_k) \leq p_{nk}.$$

We next turn the main result of Nash (1954). We first introduce a notation. Let $A^0 = A^c$ and $A^1 = A$, and define

$$A^\epsilon = \bigcap_{n=1}^{\infty} A_n^{\epsilon_n}$$

where each ϵ_n is 0 or 1 and $\epsilon = (\epsilon_1, \epsilon_2, \dots)$; here $\{A_n\}_{n \geq 1}$ is any given sequence of events. Let

$$\begin{aligned} H &= \{\epsilon : \epsilon_i = 1 \text{ for finitely many values of } i\}, \\ H_0 &= \{\epsilon \in H : P(A_1^{\epsilon_1} \cap \cdots \cap A_n^{\epsilon_n}) > 0 \quad \forall n \geq 1\}. \end{aligned}$$

Then it is well known that H is countably infinite. Clearly,

$$P\left(\bigcup_{\epsilon \in H \setminus H_0} A^\epsilon\right) = 0. \quad (2.3.4)$$

Next, assume that $\epsilon \in H_0$. Then $P(A^\epsilon | A_1^{\epsilon_1} \cap \dots \cap A_n^{\epsilon_n})$ is well defined for each $n \geq 1$, and

$$P(A^\epsilon) = P(A_1^{\epsilon_1}) \prod_{n=2}^{\infty} \left(1 - P\left(A_n^{1-\epsilon_n} | A_1^{\epsilon_1} \cap \dots \cap A_{n-1}^{\epsilon_{n-1}}\right)\right).$$

Thus, using Theorem 8.52 on page 208 of Apostol (1974),

$$\begin{aligned} P(A^\epsilon) = 0 &\Leftrightarrow \sum_{n=2}^{\infty} P\left(A_n^{1-\epsilon_n} | A_1^{\epsilon_1} \cap \dots \cap A_{n-1}^{\epsilon_{n-1}}\right) = \infty \\ &\Leftrightarrow \sum_{n=2}^{\infty} P\left(A_n | A_1^{\epsilon_1} \cap \dots \cap A_{n-1}^{\epsilon_{n-1}}\right) = \infty \end{aligned}$$

since $\epsilon \in H$ and hence $A_n^{1-\epsilon_n} = A_n$ for all sufficiently large n . Now observe that $\liminf A_n^c = \cup\{A^\epsilon | \epsilon \in H\}$ since

$$\begin{aligned} \omega \in \liminf A_n^c &\Leftrightarrow \exists \text{ an integer } m(\omega) \geq 1 \text{ such that } \omega \notin A_n \forall n \geq m(\omega) \\ &\Leftrightarrow \omega \in A^\epsilon \text{ for some } \epsilon \in H. \end{aligned}$$

Thus,

$$\begin{aligned} P(\liminf A_n^c) = 0 &\Leftrightarrow P\left(\bigcup_{\epsilon \in H_0} A^\epsilon\right) = 0 \quad (\text{by (2.3.4)}) \\ &\Leftrightarrow P(A^\epsilon) = 0 \quad \forall \epsilon \in H_0 \\ &\Leftrightarrow \sum P(A_n | A_1^{\epsilon_1} \cap \dots \cap A_n^{\epsilon_n}) = \infty \forall \epsilon \in H_0. \end{aligned}$$

We have thus proved the result of Nash, namely, $P(\limsup A_n) = 1$ iff $\sum P(A_n | A_1^{\epsilon_1} \cap \dots \cap A_{n-1}^{\epsilon_{n-1}}) = \infty \forall \epsilon \in H_0$. A related result is given in Bruss (1980).

We next give an application of Nash's result. There are two urns each containing a red and b black balls. A ball is drawn at random from the first urn. This is repeated until a black ball is drawn. Each time a red ball is drawn from the first urn, the number of balls in the second urn is doubled by putting in as many red balls as there are balls of either color in the second urn before. Once a black ball is drawn from the first urn, all further draws are made at random from the second urn with replacement after each draw, and no further change is made in the composition of the contents of the second urn. Let A_n be the event of drawing a black ball in the n th trial. We show below that $P(\limsup A_n) = 1$. Note that

$$P\left(A_n | A_1^{\epsilon_1} \cap A_2^{\epsilon_2} \cap \dots \cap A_{n-1}^{\epsilon_{n-1}}\right) = \begin{cases} 1/2 & \text{if } n < k; \\ 2^{-k} & \text{if } n \geq k, \end{cases}$$

where $k > 1$ is such that a black ball is drawn for the first time at $(k - 1)$ th trial. (This is true, because the second urn will contain 2^k balls at the k th trial and thereafter, $2^k - 1$ red and 1 black balls.) Then $p'_n := \inf_{n \geq 1} P(A_n | A_1 \cap \dots \cap A_{n-1}) = 2^{-n} > 0$; but $\sum p'_n = 1 < \infty$, so that the hypothesis of Borel's criterion (stated in the historical remarks on page 18) does not hold. However,

$$\sum P(A_n | A_1^{\epsilon_1} \cap \dots \cap A_{n-1}^{\epsilon_{n-1}}) = \infty \forall \epsilon,$$

and so $P(\limsup A_n) = 1$.

We conclude this section with a result of Martikainen and Petrov (1990).

Theorem 2.3.1 (Martikainen and Petrov 1990) *Let $0 < \alpha \leq 1$.*

(a) *The following are equivalent:*

- (i) $P(A_n \text{ i.o.}) \geq \alpha$.
- (ii) $\sum P(A_n \cap B) = \infty$ for any event B satisfying $P(B) > 1 - \alpha$.
- (iii) $P(A_n \cap B) > 0$ for infinitely many values of n for every event B satisfying $P(B) > 1 - \alpha$.

(b) *The following are equivalent:*

- (iv) $P(A_n \text{ i.o.}) = \alpha$
- (v) Statement (ii) holds and for each $\epsilon > 0$, \exists an event B_0 such that $P(B_0) > 1 - \alpha - \epsilon$ and $\sum P(A_n \cap B_0) < \infty$.
- (vi) Statement (iii) holds and for each $\epsilon > 0$, \exists an event B_0 such that $P(B_0) > 1 - \alpha - \epsilon$ and $P(A_n \cap B_0) = 0$ for all sufficiently large n .

Proof (a) See Petrov (1995, p. 201).

(b) $(i) \Rightarrow (iv)$: Clearly, $P(A_n \text{ i.o.}) \geq \alpha$ by (a). If possible, let $P(A_n \text{ i.o.}) > \alpha$. Then \exists an $\epsilon > 0$ such that $P(A_n \text{ i.o.}) \geq \alpha + \epsilon$. By (a), $\sum P(A_n \cap B) = \infty$ for every event B satisfying $P(B) > 1 - \alpha - \epsilon$. This contradicts the second condition of (v).

$(vi) \Rightarrow (v)$: This is clear.

$(iv) \Rightarrow (vi)$: Clearly, Statement (iii) holds by (c). If possible, let the second condition of (vi) fail. Then \exists an $\epsilon > 0$ such that $P(A_n \cap B) > 0$ for infinitely many value of n for every event B satisfying $P(B) > 1 - \alpha - \epsilon$. Then $P(A_n \text{ i.o.}) \geq \alpha + \epsilon$ by (a), contradicting (iv). \square

References

- T.M. Apostol, *Mathematical Analysis*, 2nd edn. (Addison–Wesley Publishing Company, Inc., Reading, 1974)
- O.E. Barndorff-Nielsen, On the rate of growth of the partial maxima of a sequence of independent and identically distributed random variables. MS 9, 383–394 (1961)

- N. Balakrishnan, A. Stepanov, A generalization of the Borel–Cantelli lemma. *Math. Sci.* **35**, 61–62 (2010)
- W. Feller, *An Introduction To Probability Theory And Its Applications*, vol. 1, 3rd edn. (revised) (Wiley, New York, 1968)
- M. Loève, On almost sure convergence. in *Proceedings of the Second Berkeley Symposium*, University of California (1951), pp. 279–303
- S.W. Nash, An extension of the Borel–Cantelli lemma. *AMS* **25**, 165–167 (1954)
- F.T. Bruss, A counterpart of the Borel–Cantelli lemma. *J. Appl. Prob.* **17**, 1094–1101 (1980)
- A.I. Martikainen, V.V. Petrov, On the Borel–Cantelli lemma. *Zap. Nauch. Sem. Leningrad Otd. Mat. Inst.* **184**, 200–207 (1990) (in Russian)
- V.V. Petrov, *Limit Theorems of Probability Theory* (Oxford University Press, New York, 1995)



<http://www.springer.com/978-81-322-0676-7>

The Borel-Cantelli Lemma

Chandra, T.K.

2012, XII, 106 p., Softcover

ISBN: 978-81-322-0676-7